

ECTOR COUNTY INDEPENDENT SCHOOL DISTRICT - Odessa, TX 068901 OTHER REVENUES: GRANTS FROM PRIVATE SOURCES CDC (EXHIBIT) A (Reg)

Permission is requested to accept this donation/gift for our school/department. The donor understands that the donation/gift will become the property of the Ector County Independent School District and will be under the jurisdiction of the school/department in accordance with School Board Policy and administrative rules and regulations. Approved donation/gift should be added to fixed assets inventory if applicable.

Campus: 851 - Academics

Principal/Non-Campus Administrator: Kristen N. Vesely

Name of Donor: ExxonMobil

Email/Phone of Donor: jennifer.c.stephenson@exxonmobil.com

Donor Mailing Address: 22777 Springwoods Village Pkwy. Spring TX 77389

Donation Description: STEM Resources

Type of Donation: Physical items

Value*: 150000

*Values assigned for donation of equipment or services is for internal reporting purposes only. This value may not be used as an appraisal value for IRS

Purpose of Donation: To improve and support STEM educational programming in ECISD.

Item/Service: STEM Lab equipment

Purpose of Purchase: To improve STEM Education in middle schools and high schools.

Approver	Response	Date	Comment
Kristen Vesely	Approve	8/19/2025 7:09 PM	Approved
Keeley Boyer	Approve	8/20/2025 12:03 PM	NA
Albessa Chavez	Approve	8/26/2025 9:29 AM	Approved
Dusty Baumann	Approve	8/26/2025 2:19 PM	NA



VERNIER SOFTWARE & TECHNOLOGY INC. Quote DBA, VERNIER SCIENCE EDUCATION

13979 SW MILLIKAN WAY

BEAVERTON, OR 97005

503-277-2299 Email: orders@vernier.com

EIN:93-4154597

Incoterms 2020

Terms

Vernier Quote: 1112602 - 000

Customer: 716667

08/31/2025 **Expire Date**

Contact ID

Currency

Customer: 716667

Quote Date

CAITLIN COUCH **ECTOR COUNTY ISD** 802 N SAM HOUSTON ODESSA, TX 79761

Ship Via

Employee

08/12/2025	dminges	XPO	EXW		LESS THAN TR	NET 30	DAYS	Contact IB	USD
Qty Ordered		Item Code		Description		ı	Retail Price	Unit Price	Total Price
7		GAP-3YR		VERNIER GRAPHIC	AL ANALYSIS PRO	O 3-YR	299.00	0.00	0.00
This is a web from activation		, delivered digitall	y. Each lic	ense grants access for a	K-12 school building	or a college	department fo	or three years	
56		GDX-FOR		GO DIRECT FORCE	/ACCELERATION		119.00	119.00	6,664.00
56		PHY-FRBL		FRICTION BLOCK			17.00	17.00	952.00
56		GDX-MD		GO DIRECT MOTION	N DETECTOR		129.00	129.00	7,224.00
28		OSE-GDXCAF	RT-PKG	OPENSCIED SENSO	OR CART PKG		491.00	482.00	13,496.00
				28 GDX-CART-Y 28 GDX-CART-A 28 GDX-CART-A 28 CGUIDE-1	G GO DIR AK GO DIR	RECT SENS		-	KIT
7		GDX-WTVA		GO DIRECT WEATH 7 GDX-WTHR 7 WTHR-VANE	GO DIR	RECT WEA	´ 164.00 THER THER VANE	164.00	1,148.00
8		MSV-E		MIDDLE SCHL SCI V			45.00	0.00	0.00
This product	is delivered via	electronic downlo	oad, with r	o physical product to shi	p.				
1		TARIFF		TARIFF SURCHARG	SE .		0.00	1,474.20	1,474.20

MOS

In response to recent U.S. trade policy changes and resulting tariffs, a 5% surcharge has been applied to this purchase of Vernier products (excluding software and books). See www.vernier.com/tariffs for more information.

Total Item Qty: 310 Total Weight: 190.40

The prices listed on this quote are valid with complete shipment to one location. Any applicable tax will be based on the bill-to entity, the ship-to address, and the date of the shipment.

Please contact our Quotes Dept at 1-888-837-6437 or quotes@vernier.com if you have any questions about the quote. Please contact our Orders Dept at 1-888-837-6437 or orders@vernier.com and reference this quote number to place the order.

Thank you for using Vernier products!

30,958.20 Line Item Total: Shipping: 0.00 Subtotal: 30.958.20 *Estimated Tax: 0.00 Total: 30,958.20



VERNIER SOFTWARE & TECHNOLOGY INC. Quote DBA, VERNIER SCIENCE EDUCATION

13979 SW MILLIKAN WAY

BEAVERTON, OR 97005

503-277-2299 Email: orders@vernier.com

EIN:93-4154597

Vernier Quote: 1112611 - 000

Customer: 716667

08/31/2025 **Expire Date**

Customer: 716667

CAITLIN COUCH ECTOR COUNTY ISD

SECONDARY SCIENCE-HIGH SCHOOLS

ODESSA, TX 79761

Quote Date 08/12/2025	Employee dminges	Ship Via XPO	Incoterr EXW	ns 2020	MOS LESS THAN TR	Terms NET 30 DAYS	Contact ID	Currency USD
Qty								
Ordered		Item Code		Description		Retail Price		Total Price
14		GDX-RB			ESPIRATION BELT	125.00		1,750.00
36		GDX-CO2			O2 GAS SENSOR	229.00		8,244.00
48		GDX-FOR			ORCE/ACCELERATION	119.00		5,712.00
6		GDX-PH-TP			H TEACHER PACK	935.00		5,610.00
48		GDX-O2			2 GAS SENSOR	219.00		10,512.00
36		GDX-GP			SAS PRESSURE	105.00		3,780.00
6		GDX-TMP-TP			EMP TEACHER PACK	702.00		4,212.00
12		GW-OHR			ART RATE SENSOR	104.95		1,259.40
36		GDX-CON		GO DIRECT C	ONDUCTIVITY	129.00	129.00	4,644.00
36		DTS-GDX		GO DIRECT D	YNAMICS SYSTEM	636.00	636.00	22,896.00
				36 TRACK	COMBIN	ECT DYNAMICS SYS	CS BENCH	
24		DTS-CFAN			MOUNTING PLATE	89.00		2,136.0
24		DTS-PAD		FRICTION PA		32.00		768.0
48		PHY-FRBL		FRICTION BL		17.00		816.0
36		GDX-MD		GO DIRECT M	NOTION DETECTOR	129.00	129.00	4,644.0
24		GDX-VPG		GO DIRECT P	HOTOGATE	105.00	105.00	2,520.0
24		LASER		LASER POINT	ER	24.00	24.00	576.00
24		STAND		LASER POINT	ER STAND	29.00		696.00
12		GDX-FP		GO DIRECT F	ORCE PLATE	399.00	399.00	4,788.00
36		GDX-COL		GO DIRECT C	OLORIMETER	135.00	135.00	4,860.0
24		GDX-CUR		GO DIRECT C	URRENT SENSOR	99.00	99.00	2,376.0
36		GDX-LC		GO DIRECT L	IGHT/COLOR SENSOR	99.00	99.00	3,564.0
36		GDX-VOLT		GO DIRECT V	OLTAGE	95.00	95.00	3,420.0
12		VCB2-CAP		LARGE CAPA	CITOR 22000 UF	30.00	30.00	360.0
6		DCA-3YR		DATA COLLEC	CTION AND ANALYSIS P			2,994.00
				6 GAP-3' 6 VVA-3' 6 VSA 6 VIA	YR VERNIE VERNIE	R GRAPHICAL ANAL R VIDEO ANALYSIS: R SPECTRAL ANALY R INSTRUMENTAL A	3-YEAR ′SIS	R
7		CWV-E			N/ VERNIER - ELEC	45.00		0.00
	is delivered via	electronic downlo				.3.00	2.30	0.00
7		BWV-E			VERNIER - ELEC	45.00	0.00	0.00
	is delivered via	electronic downlo				.5.00	0.00	0.00
7		PWV-E			VERNIER - ELEC	45.00	0.00	0.00
This product	is delivered via	electronic downlo				10.00	0.00	0.00
1	VIO	TARIFF	•	TARIFF SURC	•	0.00	5,237.82	5,237.8
In response t	to recent U.S. to				ର iANGE ର surcharge has been applied			5,251.0
		oks). See www.ver OST-1DAY	nier.com/ta	ariffs for more inf		·	•	0.00



VERNIER SOFTWARE & TECHNOLOGY INC. Quote DBA, VERNIER SCIENCE EDUCATION

13979 SW MILLIKAN WAY BEAVERTON, OR 97005

503-277-2299 Email: orders@vernier.com

EIN:93-4154597

Vernier Quote: 1112611 - 000

Customer: 716667

08/31/2025 **Expire Date**

Customer: 716667

CAITLIN COUCH **ECTOR COUNTY ISD**

SECONDARY SCIENCE-HIGH SCHOOLS

ODESSA, TX 79761

Quote Date 08/12/2025	Employee dminges	Ship Via XPO	Incoterms 2020 EXW	MOS LESS THAN TR	Terms NET 30 DAYS	Contact ID	Currency USD
Qty Ordered		Item Code	Description		Retail Price	Unit Price	Total Price
8		GDX-RMPK	GO DIRECT R 8 GDX-R 8 AK-RM		GE 324.00 ECT ROTARY MOTIO ONAL MOTION ACCE	N SENSOR	2,592.00
4		GDX-PL		ROJECTILE LAUNCHER			1,996.00
2		VPD-3HR	3-HOUR VIRT	UAL PROFESSIONAL NT	750.00	750.00	1,500.00
1		OST-1DAY	ON-SITE PRO DAY)	FESSIONAL DEVELOPM	IENT (1 3,000.00	3,000.00	3,000.00
1		PH-SS	PH ŚTORAGE	SOLUTION	25.00	25.00	25.00

Total Item Qty: 746 Total Weight: 952.20

The prices listed on this quote are valid with complete shipment to one location. Any applicable tax will be based on the bill-to entity, the ship-to address, and the date of the shipment.

Please contact our Quotes Dept at 1-888-837-6437 or quotes@yernier.com if you have any questions about the quote. Please contact our Orders Dept at 1-888-837-6437 or orders@vernier.com and reference this quote number to place the order.

Thank you for using Vernier products!

117,488.22 Line Item Total: Shipping: 1,553.58 Subtotal: 119,041.80 *Estimated Tax: 0.00 Total: 119,041.80